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Answer any five questions
All questions carry equal marks
!f\ #""l.a) Statethe reasons Ri;r separatmg Lexica}dnalysis and'Syntax-analysis/, A
/—\ \_ AP /Btsouss fiow Flmtc Autoﬁ'iata is ,tiscq to repogmzetokens dand perférm lexneal analys:s\ Al
— "with example ' I 2% 1 M
2.a) How to specify the Tokens? Differentiate Token, Lexeme and Pattern with suitable
examples.
b) Explain various Error Recovery strategies in Lexical analysis [7+8]
P N . U N N W
LA -3.0) !Miat do Jyou me;{mby Amblguou{ Gmmmar‘? Checklwbether the follawmg grammamk
£\ ey /Ambiguoiis or not
S—aAB,
A—bClcd,
C—cd,
B—c/d
. b ertea 0te on ¥ | ) A E=C m W S+
AN, fConstmcI :CLR parsmg table for the oﬂowmg Grammai\ ......... - v O / - v
S 2L=R
SR
L2>*R
L->id
R—)L (erte all necessary procedures) [15]
A7 A ,\ A A A 7 A
*——\l\ . 3.a) _ﬂlveSyqiax Dlrectéd Transianonfschemefor Slmplcbesk Cnrculator* s WL
"""" b) Convert the fo]Iowmg arithmetic expression into Syntax Tree and Three Address Code i
b*3(atb). [7+8]
6.a) Differentiate Synthesized and Inherited Attributes with example.
b) Generate Intermediate code for the followmg code segment along wnth the Syntax
A 7 Digcted Translatl,i\x; Seheme. A L A
Ay > b}~ 4 g e, & Lo A - A =
AN f- h+g /AN ,’L AN f’{_j\ oo /AN \ S
else
x=a-b;
Where “a’ and ‘x’ are of real and ‘b’ of int type data. [7+8]
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What is Flow-Graph? Explain how the given program can be converted into Flow-

G:aph?_ B .

¢on51ruct DAG fmthe foLlowmg bamc block

1d-b+0 /’N L
e=atb
b:=b*c
a=e-d

“Copy propagation Leads to Dead code” - Justify the statement.
Flow" analys;’\mth necessary uations
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[8+7]

[71‘3]
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